WARNING:
1.
2.

1 Ensure all hardware items have been included
2 Remove bumper bar via:
a) 4 x6mm bolts from behind tail gate
b) 3 self tapping screws from each wheel arch
c) 2 plastic trim buttons from under side rear section of bumper bar
3 Remove and discard impact beam and tow eye point
4 Fit tow bar into position so as to align with impact beam mounting points and fit bolts supplied as per
diagram
5 Tighten to torque listing
6 Cut bumper as per diagram below
7 Refit bumper in reverse of Step 2
8 Tow bar rating sticker to be conspicuously located on the inside rear end of the drivers door (see
diagram below)
RECOMMENDED ASSEMBLY TORQUE LISTING FOR TOWING PURPOSES ONLY
Diameter Grade 8.8 Bolt For towing capacity details please refer to
M6 Nrg_5 vehicle owner’s manual or to the manufacturer.
M8 21.7 Overloading can void your warranties.
M10 43.4
M12 77.3 BUMPER CUT DIAGRAM
M16 189.8

Page 1 of 2 Issue Date 3/3/10
THE WORKHORSE OF AUSTRALIA’S TOWBARS

TRAILBGSS ——

Towbar Fitting Instructions
To Suit HONDA ODYSSEY 2009
Part Number HN58L

Rating 1000 kg

Do not, drill, cut, weld or otherwise modify the tow bar.

If you are using electric welding on a motor vehicle, always check that the vehicle is not equipped with electronic
engine or instrument management equipment. Failure to do so could destroy any onboard computers. If in
doubt, check with the vehicle's manufacturer.

POSITION OF TOWBAR
RATING STICKER




S TRAILBGSS ——

Towbar Fitting Instructions
To Suit HONDA ODYSSEY 2009
Part Number HN58L

Rating 1000 kg

NOTE: Trailboss recommends that you check your towball to ensure it complies with the Australian standard
AS 4177.2.

PLEASE NOTE: It is advised to remove lug from saddle when not actually towing so as to produce a clear view
of the vehicles registration plate if obscured, and to also provide increased departure angle.

1-HN58 ASSEMBLY

6-M 8 X 55 BOLTS

1- TB STICKER

1-7578 LUG

2-M16 X 45 BOLTS &
2-M16 SPRING WASHERS — & g &
BN
G
3-M 8 X 30 BOLTS
9-M 8 SPRING WASHERS
9-M 8 FLAT EASHERS = —

Page 2 of 2 Issue Date 3/3/10
THE WORKHORSE OF AUSTRALIA’S TOWBARS




TRAILBGSS

Wiring Loom Fitting Instructions
To Suit Honda Odyssey
Part Number 100154-WL

Wiring Loom Installation Instructions

Honda Odyssey
Part No: 100154-WL

Tail Harness Length Required: 1200mm
RPA Override Switch Part No: 04848 (If Fitted)

Wiring Loom Installation Time: Approx 30 Mins

\ Page 1 of 2

Cequent Customer Service

Issue Date 05-03-10 /

Ph: 1800 812 017 Fax: 03 9797 3299
Email: info@cequent.com.au
Post: PO Box 4050, Dandenong South VIC 3175




\ Page 2 of 2

. Remove the rear passenger seat and all the required trims to gain access to the LHS

. On the LHS, expose the vehicle harness wires from the corrugated tubing (next to the

. Connect the Tail harness connector to the Trailer Patch Harness (100154-WL) mating

8.
9.

10.Please place the fitting instructions in the glove box after installation.

TRAILBGSS ——

Wiring Loom Fitting Instructions
To Suit Honda Odyssey
Part Number 100154-WL

and RHS rear quarter areas of the vehicle.

Disconnect the LHS tail light connectors. Patch the Trailer Patch Harness (P/No:
100154-WL) LHS connectors in between the tail light connectors.

seat belt mechanism) by removing the tape and splice the Trailer Patch Harness BLACK
wire into the vehicle harness RED wire reverse signal.

Route the Trailer Harness patch towards the RHS tail light connector. Disconnect the
RHS tail light connectors. Patch the Trailer Patch Harness (P/No: 100154-WL) RHS
connectors in between the RHS tail light connectors.

On the rear RHS of the vehicle, remove the blanking grommet from the grommet hole.
From outside of the vehicle, mount the tail harness socket onto the towbar mounting
bracket using M4 fasteners (not supplied).

connector.

Test the Trailer Harness function using trailer light board or multimeter.

Secure all harnesses to the vehicle using cable ties (not supplied).

Refit all removed parts and secure all fasteners.

Issue Date 05-03-10 /
Cequent Customer Service

Ph: 1800 812 017 Fax: 03 9797 3299
Email: info@cequent.com.au
Post: PO Box 4050, Dandenong South VIC 3175




